

$$\cot \frac{p}{k} \pi \rightarrow \cot \frac{1}{q} \pi = \sqrt{k} \rightarrow \sqrt{x^2+1} = \sqrt{k+1} \rightarrow \sqrt{k} = p \quad 1.$$

$$g\left(\frac{p}{k}\right) = p \cos \frac{p}{k} \pi = \frac{1}{p} \rightarrow f\left(\frac{1}{p}\right) = f(p) = \sqrt{\frac{k-1}{k}} = \frac{\sqrt{k-1}}{p} \quad 2.$$

$$g(p) = \frac{\sqrt{p}}{1-\sqrt{p}} = \frac{\sqrt{p}(1+\sqrt{p})}{1-p} = \frac{\sqrt{p}+p}{-1} = -p-\sqrt{p} \rightarrow f(-p-\sqrt{p}) = [-p-\sqrt{p}] \quad -k \checkmark$$

$$f\left(\frac{p}{k}\right) \rightarrow \sin \frac{p}{k} = \frac{\sqrt{p}}{p} \sqrt{1-(\frac{p}{k})^2} \sqrt{1-(\frac{p}{k})^2} = \sqrt{\frac{p}{k}} \times \frac{\sqrt{p}}{p} = \frac{1}{p} \quad 3.$$

$$g(x) = e, f, \wedge, \cup \rightarrow f(x) \rightarrow \{(e, \omega), (f, \omega), (\wedge, \cup), (\cup, \wedge)\} \quad 4.$$

$$f(x) = \omega, \omega, \cup, \cup \rightarrow g \circ f(x) \rightarrow \emptyset \quad 5.$$

$$f(x) = \omega, \omega, \cup, \cup \rightarrow f \circ f(x) \rightarrow \emptyset$$

$$g(x) = e, f, \wedge, \cup \rightarrow g \circ g(x) \rightarrow \{(e, e), (f, \wedge), (e, \cup)\}$$

$$f \circ g \rightarrow (k, p) \xrightarrow{g} x \rightarrow f \circ g x \rightarrow k \rightarrow f_{\text{af}}(p) \quad 5.$$

$$g(x) = (a, p)$$

$$a = f$$

$$b = \omega \rightarrow (f, \omega)$$

$$g_{\omega, \omega} x = 1 \rightarrow g(x) = (f, 1) \rightarrow f(x) = (f, \omega)$$

$$f(-1) \rightarrow -k + k = -1 \rightarrow f(f(-1)) = -1 \quad -6$$

$$g \circ f(-1) \rightarrow g(kx + k) \rightarrow \dots \rightarrow kx + k = -1 \rightarrow kx = -k \rightarrow x = -1 \rightarrow y = -9 - 1 = \boxed{-10}$$

$$\frac{1}{(\sqrt{x+|x|})(\sqrt{x+|x|} - k)} \rightarrow \frac{1}{x-1} \rightarrow (0, +\infty) - \boxed{1}$$

$$\sqrt{x} + \sqrt{1-x^2} \rightarrow \sqrt{x^2} + \sqrt{1-\sqrt{1-x^2}} \rightarrow \frac{-1}{-1} \rightarrow \boxed{1}$$

$D_f = -1 < x < 1 \cap D_g = x \in [-1, 1]$
 $\Rightarrow \sqrt{1-x^2} \leq 1 \rightarrow x^2 \geq 0 \checkmark$
 $D(f+g) = [-1, 1]$

$$\frac{kx+1}{x-k} = t \rightarrow tx - kt = kx+1 \rightarrow -kt = \frac{kx+1}{x-k} \rightarrow \text{إف -9}$$

$$-kt = x(k-t) \rightarrow x = \frac{-kt}{k-t} \rightarrow f(t) = k \left(\frac{-kt}{k-t} \right) + 1$$

$$\frac{-kt \cdot k + 1(k-t)}{k-t} = \frac{-k^2t + k - kt}{k-t} = f(t)$$

$$\hookrightarrow x + \frac{1}{x} = t \rightarrow t^k - kx - \frac{k}{x} \rightarrow f(t) = t^k - kt \quad \checkmark$$

$x^k + \frac{1}{x^k} + kx + \frac{k}{x} = k(t)$

$$g(1) = 0$$

$$g(\sqrt{p}) = 0$$

$$p-1 \in \mathbb{D}$$

$$g(f(a)) \rightarrow f(a) = x\sqrt{a} = 1 \rightarrow a = 1 \quad -10$$

$$g(f(a)) \rightarrow f(x) = x\sqrt{\frac{a}{x}} \rightarrow \sqrt{p} \rightarrow a = p$$

5